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SUBJECT CODE NO: - Z-1341

FACULTY OF HUMANITIES

B.A. T.Y. (Sem-VI)
Examination March / April - 2023
Economics - X1V Industrial Economics
[Time: 1:30 Hours] [Max. Marks: 50]
Please check whether you have got the right question paper.

N.B 1) All questions are compulsory.
1) 99 T=7 AISTA0 AF9TF ATS.
2) Use black or blue pen only.
2) T<F FTeAT FhaT MeadT I9=m= aTa< F3TET.
3) Use pencil for diagrams.
3) AHATATST e =T ATIL FHLTET.
4) Use of any sign, attracting attention is prohibited.

4) FIOTal Aeqereh GoT ohaT AT HLUATH Tidael g,

Q1 A) Fill in the blanks (attempt all) 05
1) Labour coefficient = —mse o
Locational weight
2) In India Joint sector started after Industrial Policy.
3) __ sectors objectives is not earn profit.
4) Cotton textile Industry started at Mumbai in __ year.
5) Before 1932, there were only _ sugar factories in India.
) ThTHT STRIT 92T, (F9 fear)
1) 94-;[ D ?: W o > s o o
2) WIdara =T AT GO AL HYh SATHT TLATT ATALL
3)  EATAT 33&LT T FH AT TET.
4) 7 YT Has T HIIES IANT & ATAT.

5) 2%3% AT ARAIAT Hh_ HIET FEE 2.

B) Answer in one sentence (attempt all) 05
1) In which year sugar development fund establish in India?
2) What is full form of MNC’s?
3) Which method use by Webber to explain the theory of Industrial location.
4) In which year first Industrial policy was announced in India?
5) What is meant by cottage Industry?

F)THT ATFATT SAL (TG (TF A1)
1) AT ATET s =T TamIET Rt auT FuATa A2
2) MNC’s o T07 &9 &1 38?2
3) FET AT AT TATHATROT=AT G TAT=aT TTS RIS FIUTAT TG =1
FTIL HAT?
4) TTEATAT qiger ST &7 FHIUTCAT THT ST L FHLUATT 3Tl grd?
1
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5) FEIIANT TgUrsl T2

Q2 A) explain concepts / terms / units / events (any two) 10

Q3

(word limitation minimum 60 for each answer)
1) Agro based Industry
2) Public Sector
3) Location of Industries
4) Regional Imbalance

) Hheq T / AT / = / HaAT T .
(ST AT T3hT 9758 HATRT S o0 9T%%)
1) FHT ST ST
2) WTASTIAE &
3) ST TS
4) grafors sragare

10
B) Attempt in short (any two)
(word limitation minimum 60 for each answer)
1) Write problems on Sugar Industries.
2) Write merits on Multi National Companies.
3) Explain the problems on private sector.
4) Explain the role of Agriculture in economic development.

) ATSFATT ITL (CIZT (FITART ZI)
(T TATH TohHTe 9187 HATAT S o 97e7)
1) TTET SHRT=AT qHET forgT.

2) TG FATH 07 fera.
3) @ISR S=T=a7T THEAT T Fdl.

4) st e FA=T T T F:7T,

Answer in detail (any one) 20
(word limitation minimum 200 for each answer)

1) Write the progress and problems of cotton textile Industries in India.

2) Explain the Sargent Florence’s theory or Industrial location.

Hfeeqe I g (FIvrde! UHH)
(T AT TRHAT 87 AATAT R0 0 9157)
1) WA AT HIIE STRET ST Srror gaeT forgr.

2) WTSie FATL TTAT = e Eeriaehrseor=T fRrgia oo .
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